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QUESTION 1

Which Virtual Machine cannot be protected by the Distributed Firewall?

A. A Virtual Machine connected to a vDS Portgroup running on an ESXi 5.1 host.
B. A Virtual Machine connected to a vSS Portgroup running on an ESXi 5.5 host.
C. A Virtual Machine connected to a vDS Portgroup running on an ESXi 5.5 host.
D. A Virtual Machine connected to a logical switch running on an ESXi 5.1 host.

Correct Answer: D

QUESTION 2
-- Exhibit -
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-- Exhibit -An NSX administrator has deployed the network shown in the Exhibit.
Based on the exhibit, which statement describes a valid method for redirecting traffic around the fault?

A. Building this topology using a layer 2 switched fabric with connectivity between the leafs would allow traffic to be
redirected around the fault to another leaf.

B. Building this topology using a layer 3 routed fabric with connectivity between the leafs would allow traffic to be
redirected around the fault to another leaf.

C. Building this topology using a layer 2 switched fabric with spanning tree will provide the quickest path around the fault
to another spine when connectivity is lost.

D. Building this topology using a layer 3 routed fabric will provide the quickest path around the fault to another spine
when connectivity is lost.

Correct Answer: D
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QUESTION 3

Which NSX service or feature provides optimized management of virtual machine broadcast (ARP) traffic?
A. NSX Controller

B. NSX Manager

C. Edge Services Gateway

D. VTEP

Correct Answer: A

QUESTION 4
-- Exhibit -
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-- Exhibit -An NSX administrator creates the NSX network in the exhibit.
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What destination IP address will Host-A use when sending a VXLAN frame to Host-B?

A. The IP address of one of Host-B\\'s new vmkernel ports created during host configuration.

B. The IP address of Host-B\\'s management vmkernel port, which is also the VTEP IP address.

C. The IP address of Host-B\\'s NSX Controller. The NSX Controller forwards the VXLAN frame to Host-
D. The IP address Host-B provided to Host-A during VXLAN tunnel setup negotiations.

Correct Answer: A

QUESTION 5

Which two statements are true regarding NSX? (Choose two.)

A. Workloads can be placed and moved independently of physical topology.

B. Operational efficiency can be achieved through automation of the physical network.
C. Workload deployments are non-disruptive over the existing physical network.

D. NSX implementation requires a VMware vSphere environment.

Correct Answer: AC
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